2FEE A-1

B - HEESR—E

No ox " ~ti& (mm) -k
] m] BT =
1| EARRE (K. B XFH) 13 HERRHY
21N\ N)—=HD o B— 15 HESE ER%HY
ILOHIB— 18 ERROEHFREEY
) i D27 18 1800 600 850|ERBDIHFREHY
5|/4Ea—ILET—T )L 15 1500 600 850|ERBADIHFREHY
6| B EREFER 18 575 600 850|ERBADIHFREHY
ULGE S 2& 1220 600 850|ERBADI-HFREHY
8| F kR 18 ERROEHFREEY
IR BI—ILET—T L 18 1200 660 850|EmRO-HFX%EHY
104 Fa—I/ILRkT—T L 18 1200 660 850|EmRO-HFX%EHY
11 &k 18 1000 660 850|ERAN=HF XEHY
12|1E%6 18 1000 660 850|EAR DX XEHY
13| 7—7 L 30& ERROEHFREEY
14
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2FESH A-I [E&-EHE#I—=

No ox " ~ti& (mm) -k
] m] BT =
| EARRNE (KR, B, XH) 13
21ILSHIB— 18 ERROEHFREEY
3|—HLY 18 600 600 850|ERRN-HFX%EHY
) - DA 18 1500 600 850|ERBADI-HFREHY
5| o VIILET=TIL | 1E& 1880 2040 850|ERRD-HFX%EHY
6| F kR 18 ERROEHFREEY
1R EABE 18 1200 800 1950|BARD=HFREHY
8| AEa—ILET—T L 35 1500 600 850|EmRO-HFX%EHY
| & ik 15 1000 600 850|EAREDHFREHY
10| B2R%E#3R 18 690 675 1385|ERADHFXEHY
1MARLUD 15 1500 750 950 | AR DX REHY
12|FfxO—LoP 18 600 750 950 |ERRD-HFRERY
13|77 R&E%h THE 18 450 750 850|ERAN=HF XEHY
14| =KX AHRIS/ V¥ — 18 650 750 850|EAR DB XEHY
15|7—7 L 30& ERROEHFREEY
16
17
18
19
20
<<FE>>

BIREENHDERIL. BREEELET,




1FIES B-1 [ES-HE#SR—E
No iy " & (mm) -k
RO HeT =

| EARRNE (KR, B, XH) 1R
p) i DA 18 1200 750 850|EmR DX XEHY
WIAEABE 18 1490 800 1950|EARD=HFREHY
A ABEI—ILET—T L 25 1200 750 850|ERR DX XEHY
5| &Lk # 18 630 750 850|HARDHFREHY
6| B EREFER 18 575 600 850|EmR DX XEHY
UGEESS 28 900 750 850|EARN-HFXEHY
8| F kR 18 ERROEHFREEY
9IEBFLIY 18 422 476 337 |ERROEHXREFY
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1FiE4E B-1I

JEHH R —E

No ox " & (mm) -k
RO HeT =

XU R)—hoo 32— 18 HES R
p) i DA 18 1200 600 850|ERBADIHFREHY
3|Fike: 18 ERAROHFRERY
BB I—ILET—TL 15 1500 600 850|ERBADIHFREHY
5| &Lk # 18 600 600 850|HARDHFREHY
6|11EXE 18 1200 600 850|ERBADIHFREHY
1|1EXE (FH#ifT) 2& 1370 600 850|ERBADI-HFREHY
8| 7T—7 L 178 ERROEHFREEY
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N—a—7F— [EF-BHEEHE—E

No iy " & (mm) -k
RO B1T =

N\—a—F—HhDo 58— | &R
2|20y &R ERADEHFIEEY
3| a—ILET—T L &P ERROEHEFXEERY
ELYS &R ERROEHFIERY
5[\ AT—T L & ERROEHEFXEERY
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